All results for Berkelium isotopes

Berkelium 225 (Z=97, N=128)
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Berkelium 227 (Z=97, N=130)
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Berkelium 229 (Z=97, N=132)

Berkelium 226 (Z=97, N=129)
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Berkelium 228 (Z=97, N=131)
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Berkelium 230 (Z=97, N=133)
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All results for Berkelium isotopes

Berkelium 231 (Z=97, N=134)
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Berkelium 233 (Z=97, N=136)
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Berkelium 235 (Z=97, N=138)

T aET T ™3 T o. T T
[ PN Protons 200~ Protons
T g St Newons] ‘g ok Neutons 3
2 > £
5 =2 o) Soo
Q Wy St T
Protons <
N, s A
A B ]
! T T T T
L
s
T @
: Proons
12 poons < Neutrons 1A~
q Neurons e~ >
E L L L I q
&S H
: . aaanas sl
E b =
o ]
Mol
T T S ]
A o
~ \ 2 s ]
Tox 4wt o |
< 2T\
% il
< ks o
04— — N
f
05 00 05 10 05
8

HFB-D1S Bruyéres-le-Chatel

Berkelium 232 (Z=97, N=135)
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Berkelium 234 (Z=97, N=137)
e T T T T @ el
L 1 b poons 3 200 Protons
T B $ Newons] Neurons J
/ = 1 >
P = (]
< u 2 ot 1
Protons €
., Neurons = :
i€ B 1 0 5 10 1
BAARI RARRERAREY
Bnsef sl i 1 (fm)
P [ e St L P Proons Neutons
: Protons 1 v e
125 poons = Neutons 7|
q Neutrons NN
< T P (P E
: T Aaana
o = 1 E
2 3
Ml
T St T
= 3
y : R
o 1 wa
b ~ -
g
Q
Lt e sohnd
05 00 05 10 05 00 05 10
8
HFB-D1S Bruyéres-le-Chatel
Berkelium 236 (Z=97, N=139)
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All results for Berkelium isotopes

Berkelium 237 (Z=97, N=140)
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Berkelium 239 (Z=97, N=142)
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Berkelium 241 (Z=97, N=144)
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Berkelium 238 (Z=97, N=141)
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Berkelium 240 (Z=97, N=143)
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Berkelium 242 (Z=97, N=145)
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All results for Berkelium isotopes

Berkelium 243 (Z=97, N=146) Berkelium 244 (Z=97, N=147)
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Berkelium 245 (Z=97, N=148) Berkelium 246 (Z=97, N=149)
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Berkelium 247 (Z=97, N=150) Berkelium 248 (Z=97, N=151)
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All results for Berkelium isotopes

Berkelium 249 (Z=97, N=152) Berkelium 250 (Z=97, N=153)
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Berkelium 251 (Z=97, N=154) Berkelium 252 (Z=97, N=155)
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Berkelium 253 (Z=97, N=156) Berkelium 254 (Z=97, N=157)
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All results for Berkelium isotopes

Berkelium 255 (Z=97, N=158)
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Berkelium 257 (Z2=97, N=160)
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Berkelium 259 (Z2=97, N=162)
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Berkelium 256 (Z=97, N=159)
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Berkelium 258 (Z=97, N=161)
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Berkelium 260 (Z=97, N=163)
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All results for Berkelium isotopes

Berkelium 261 (Z=97, N=164) Berkelium 262 (Z=97, N=165)
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All results for Berkelium isotopes
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All results for Berkelium isotopes
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Berkelium 281 (Z=97, N=184) Berkelium 282 (Z=97, N=185)
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Berkelium 283 (Z=97, N=186) Berkelium 284 (Z=97, N=187)
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All results for Berkelium isotopes
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Berkelium 287 (Z=97, N=190) Berkelium 288 (Z=97, N=191)
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Berkelium 289 (Z=97, N=192) Berkelium 290 (Z=97, N=193)
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All results for Berkelium isotopes

Berkelium 291 (Z=97, N=194) Berkelium 292 (Z=97, N=195)
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Berkelium 297 (Z=97, N=200)

All results for Berkelium isotopes
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Berkelium 303 (Z=97, N=206)

All results for Berkelium isotopes
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Berkelium 308 (Z=97, N
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All results for Berkelium isotopes

Berkelium 309 (Z=97, N=212) Berkelium 310 (Z=97, N=213)
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